1.7 Solving Quadratic Equations Using CTS
1.8 Quadratic Formula
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Solving Quadratics By CTS

*Use CTS to solve a quadratic equation when...

"b" value is even



ex: Solve.

a) x*-4x-10=0

b) x> -14x+103=0



b) x*=14x+103=0



Q) -2x"+4x-17=0



Solving Quadratics Using the Quadratic Formula

Let a,b,c € R such th he solutions of the
quadratic equation(ax” + bx + ¢ = 0 aJe:

-2y b - q6c

Quadratic Formula: x = 20’

*Use the Quadratic Formula to solve a quadratic equation

when... e vawves p¥ &.,b,-l—(l e thd.\\
and e quadaic 15 nst fpchombie.



ex: Solve.

X + 3X—a2 =2
a:.l x:'-‘___é—_
b= >
c=">










Picking A Method

C$ (o ()= O sy oot
d) X~ 2R =14 =0 CTS



2 x—bx+ 120
V= o2 {36-4(N"

p— '
c= 1
X= btPs . prafT







() G—Q[K*")L‘O
2 (x+D= 6

S =3

[x+1[= V3

X+(=% )3
X==|2/3






ex: Determine which method is best to solve each quadratic
equation. Do not repeat a method. DO NOT SOLVE.

a)

1. X2 +6x-3=0
2. x> +6x+5=0
3.2(x+1) =4=0

4 X +2x+5=0



ex: Determine which method is best to solve each quadratic
equation. Do not repeat a method. DO NOT SOLVE.

a)

12 46x-3=0 CTSr Dol Y=-3+2[3
2 X 46x45=0 FrghoC T -l,-5
3.2(x+1)2-4=0§4.ﬂ70)( 1S e
+ 2 +2x+5=0 C7 00 B %:Jlj%



b)

1. 14x° =21x=0
2. X2 +3x-1=0
32x° =8x+5=0

4.x°=80=0



b)
° 3
P 0, =
e
W 2. X2 4+3x-1=0 X = 3-;:)13;
"
Cre»2ois=0 y= g2k

-
Sq 4. x2-80=0 )K: + Ll{'s'-
ot




The Discriminant:

- Ir;_the quadratic formula, the expression
b-dac is called the discriminant.

e The discriminant is used to determine the

the nature of the roots (or solutions) of the quadratic equation

D= h-dac




Using The Discriminant:

asammne | D 70 | DLO | D=
Sowutions. 2 . &
Type of solutions Cer ‘ , NS 'lM/B ¢ e l

Graph of

y=ax' +bx+c




ex: Find the discriminant and give the number and type of
solutions of the equation.

a) x*-8x+13=—-4

-gx+ 270
=1 D= fa)- ()
eTh T ki



b) x> -8x+16=0

.. = Es)-4(Nt)

a.—-
b'-""/'i = 4—6¢
C‘.:-

= O

| real solovion






ex: Thegraphof y= ax’ + bx + ¢ r the solutions of

ax> +hx+c =0 are given. Determine if the discriminant
is negative, or zero. Explain your reasoning.

a)




b)

s




A)x=2+3i

Dis ﬂ@ﬂﬁ'mé



ex: Consider the quadratic equation: 3 +12x+¢c=0

Find all values of ¢ for which the equation has...

a) two real solutions

D ~ O
k-4ac = O
Wy =) >0

C<la



b) one real solution
p - dac =&
g — 1377
c= 13



¢) two imaginary solutions



